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- Lessen Y3
Math 70 EXAM #4 Topics List

~Math 70-33: Exam #4 Monday, 30 April, 1:20 PM - 2:25 PM
JAath 70-34: Exam #4 Thursday, 26 April, 1:20 PM - 2:25 PM

Optional Exam 4 Review session / office hours for any Math 70 student in either section:
Wednesday, April 25, 3:30-4:30 PM, ASC room 420.

Bittinger
lesson .
number Lecture sections
33 “ 12.1-15t
34 12.1-2nd
35 (_greviousexam)
36 12.2 |
37 12.3-1st
38 « 12.3-2@&12.4;15:,
39 12.4-znd*
40 125
a1 12.6-1st
42 12.6-2nd
43 | 1263rd
44 {material on next exam)
45 {material on next exam)
46 ‘ (m on next exam)
47 EXAM 4 (c12) |

if you are repeating Math 70 or study with studéqts in other sections of Math 70, it may be helpful to know
10w the other textbook, Martin-Gay, aligns with your textbook, Bittinger.
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Math 70 Mixed Practice 9.8

Solve for exact answers, then find approximations with four decimal places.

1) In(Gx)-ln(x-3)=2 6) 577 =4

2) 3% =7 7) log, x+log, 2x-3 =1
3) logs;2+logsx=2 8) 3.4 =2

4) 3% =6 9) —logs(4x+T)+log, x=1

5) 10g(5x)—10g(x+l)=4 10) 2.5x—1 =1
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Use the formula A = P( 1+ -—] to solve the compound interest problem.
n

Find how long it takes for $1500 to double if it is invested at 4% interest compounded monthly.

The money will double in value in approximately years.
(Do not round until the final answer. Then round to the nearest tenth as needed.)
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. 9749 r\™ .
Use the formula A=P1+—| to solve the compound interest problem.
N n
- Find how long it takes a $1400 investment to earn $500 interest if it is invested at 2% interest
compounded quarterly.
$500 interest will be earned in approximately D years. (Round to the nearest tenth.)
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9.7.51 Find how long it takes $2000 to double if it is invested at 5% interest compounded semiannually.

nt
Use the formula A = P(I + -3-) to solve the compound interest problem.

It will take approximately D years.
(Do not round until the final answer. Then round to the nearest tenth as needed.)
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